PROPHET COMPARED TO GAMBLER: AN INEQUALITY FOR TRANSFORMS OF PROCESSES¹

By Ulrich Krengel and Louis Sucheston

University of Göttingen and The Ohio State University

A prophet is a player with complete foresight; a gambler knows only the past and the present, but not the future. If each of them bets on differences of consecutive nonnegative random variables X_i such that $E(X_i|X_{i-1})=EX_i$, the players multiplying their stakes by uniformly bounded variables, then the expected gain of the prophet is at most three times that of the gambler. The constant 3 is optimal.

1. Introduction. A prophet is a player with complete foresight; a gambler knows only the past and the present, but not the future. We show that if each of them bets on differences of consecutive nonnegative random variables such that any two adjacent random variables are independent, then the expected gain of the prophet is at most three times that of the gambler, the constant 3 being optimal. If the random variables are independent and the only permitted action is stopping, then the constant is known to be 2 [5]; see also [6].

The actual setting is somewhat less restrictive. Usually, one assumes that the gambler knows the distribution, but our gambler has to know only the expectations of random variables. Also, less than adjacent independence is required. Let X_0, X_1, \ldots, X_r be integrable random variables, with expectations $e_n, e_0 \leq X_r$. Let \mathcal{L}_i be sigma-algebras of events such that each X_i is measurable with respect to \mathcal{L}_i . At time i+1 the gambler wins $U_{i+1}(X_{i+1}-X_i)$, where the factor U_{i+1} is chosen by the gambler on the basis of the information provided by \mathcal{L}_i , i.e., U_{i+1} is measurable with respect to \mathcal{L}_i . We then say that U_i is predictable with respect to \mathcal{L}_i . The two main particular cases are $\mathcal{L}_i = \sigma(X_1, \ldots, X_i)$, when U_i is simply called predictable, and $\mathcal{L}_i = \sigma(X_i)$, when U_i is called presently predictable: The player multiplies his stake by the random variable U_{i+1} , which depends only on the present. In any event, the gain of the player up to the time n is

$$\sum_{0 \le i < n} U_{i+1}(X_{i+1} - X_i) = Z_n.$$

The sequence Z_n is called the transform of (X_n) by (U_n) , a terminology that originated with Burkholder (1966); one writes $Z_n = (X*U)_n$. We will assume that all the U_n 's are bounded in absolute value by a fixed constant c. If T is a stopping time, then $X_{T \wedge n} - X_0$ is the sequence X_n transformed by the predictable sequence $1_{\{T \geq n\}}$. In the present article the gambler transforms the process X by a presently predictable U (bounded by c); the collection of all such U's is denoted by Π_s . The set of $all\ U$'s (bounded by c) is Δ_s . The corresponding sets

Received October 1985; received June 1986.

¹Research supported in part by National Science Foundation Grant MCS-8301619.

AMS 1980 subject classification. Primary 60G40.

Key words and phrases. Prophet inequality, transforms of processes.

limited to nonnegative U's (our main concern) are simply Π and Δ . The maximal gains of the prophet and of the gambler are

$$P_s = \sup_{\Delta_s} E(U * X), \qquad G_s = \sup_{\Pi_s} E(U * X).$$

The corresponding expressions when U is restricted to Δ and Π are denoted by P and G. It is easy to see that the suprema in the expressions for P_s , G_s , P and G are reached. We impose on the X_i 's the condition

(E)
$$E(X_i|X_{i-1}) = e_i, \quad i = 1, ..., r.$$

This condition is in particular satisfied if for each i, X_i and X_{i-1} are pairwise independent. The condition (E) also holds if the centered random variables $X_i - e_i$ are martingale differences. The main theorem asserts that $P \leq 3G$; if $X_r = e_0$, then also $P_s \leq 3G_s$.

Clearly, these inequalities remain true if the U_i 's are only assumed predictable, instead of presently predictable, since then the suprema in the expressions for G and G_s are taken over larger sets.

2. Proving the prophet inequality. Let X_0, \ldots, X_r be integrable random variables with expectations e_i . It will be useful to introduce a functional μ involving moments defined on L_1 by

$$\mu(X) = EX - \frac{1}{2}E|X - EX| = EX - E(X - EX)^{+}.$$

The functional μ is superadditive and homogeneous. We only prove the following simple fact: If $X_r \geq e_0$, then $\mu(X_0) \leq \mu(X_r)$. Indeed, the same constant may be subtracted from X_0 and X_r without changing $\mu(X_r) - \mu(X_0)$; we may therefore assume $e_0 = 0$ and $X_r \geq 0$. Then $\mu(X_0) = -E(X_0)^+ \leq 0$, while $\mu(X_r) = e_r - \frac{1}{2}E|X_r - e_r| \geq e_r - \frac{1}{2}E|X_r| - \frac{1}{2}e_r = e_r - e_r = 0$. Finally, if the random variables X_1, \ldots, X_r are nonnegative and both players receive X_1 , then the addition in the beginning of the random variable $X_0 = 0$ does not change anything, hence, in this case supposing $X_r \geq e_0$ is not a loss of generality. We observe this to justify the assumption $\mu(X_0) \leq \mu(X_r)$ frequently made in this paper.

2.1. THEOREM. Let \mathcal{L}_i be sigma-algebras such that for each i, X_i and U_{i+1} are \mathcal{L}_i -measurable. Assume that $\mu(X_0) \leq \mu(X_r)$ and

(E)
$$E(X_i|X_{i-1}) = e_i, \quad i = 1,..., r.$$

Then $P \leq 3G$. This inequality is strict unless all the random variables are identically equal to the same constant.

PROOF. Without loss of generality, we can and do assume that \mathcal{L}_i is the sigma-algebra generated by X_i because the gain of the gambler using optimal strategies increases if the sigma-algebra is enlarged.

For the gambler, since U_i is X_{i-1} -measurable, we have

$$E[U_i(X_i - X_{i-1})] = E[E(U_i(X_i - X_{i-1})|\mathcal{L}_{i-1})] = E[U_i(e_i - X_{i-1})].$$

Assuming $0 \le U_i \le 1$, this is maximal for $U_i = 1_{\{X_{i-1} < e_i\}}$. Hence,

$$G = \sum_{i=1}^{r} E(e_i - X_{i-1})^{+}.$$

On the other hand,

$$P = \sum_{i=1}^{r} E(X_{i} - X_{i-1})^{+}$$

$$\leq \sum_{i=1}^{r} \left[E(X_{i} - e_{i})^{+} + E(e_{i} - X_{i-1})^{+} \right]$$

$$= \sum_{i=1}^{r} E(X_{i} - e_{i})^{+} + G.$$

It is therefore sufficient to show that

(2.2)
$$\sum_{i=1}^{r} E(X_i - e_i)^+ \le 2G.$$

The identity $E(e_i - X_{i-1})^+ = E(X_{i-1} - e_i)^+ + e_i - e_{i-1}$ yields

(2.3)
$$G = \sum_{i=0}^{r-1} E(X_i - e_{i+1})^+ + e_r - e_0.$$

For the comparison of terms $a_i = E(X_i - e_i)^+$ and $b_i = E(X_i - e_{i+1})^+$, we prove a lemma.

2.4. Lemma. If X is an integrable random variable and a and b are constants, $a \le b$, then

$$(b-a)P(X \ge b) \le E(X-a)^+ - E(X-b)^+ \le (b-a)P(X > a).$$

PROOF. Let $F(x) = P(X \le x)$. Then

$$E(X-a)^{+}=\int_{a}^{\infty}(x-a)F(dx).$$

Hence,

$$E(X-a)^{+}-E(X-b)^{+}=\int_{b-0}^{\infty}(x-a-x+b)F(dx)+\int_{a}^{b-0}(x-a)F(dx)$$

$$\geq \int_{b-0}^{\infty}(b-a)F(dx)=(b-a)P(x\geq b),$$

$$E(X-a)^{+}-E(X-b)^{+}\leq \int_{a}^{\infty}(x-a-x+b)F(dx)=(b-a)P(X>a).$$

2.5. LEMMA. Let X be an integrable random variable with EX = e. Then for any constant e',

$$E(X-e)^{+} \le E(X-e')^{+} [1 + P(X < e)] + e' - e.$$

If $e \le e'$, the term P(X < e) may be omitted.

PROOF. If $e \le e'$, then by the previous lemma,

$$E(X-e)^{+} \leq E(X-e')^{+} + e' - e.$$

Now assume e > e'. Then the first inequality in Lemma 2.4 gives

$$E(X - e)^{+} \le E(X - e')^{+} + (e' - e)P(X \ge e)$$

$$= E(X - e')^{+} + (e' - e) - (e' - e)P(X < e)$$

$$\le E(X - e')^{+} [1 + P(X < e)] + e' - e$$

because $E(X - e')^+ \ge E(X - e') = e - e'$. \square

Applying the previous lemma with $X=X_i,\ e=e_i,\ e'=e_{i+1}$ and summing, we find

(2.6)
$$\sum_{i=1}^{r-1} a_i \le \sum_{i=0}^{r-1} \left[1 + P(X_i < e_i) \right] b_i + e_r - e_0.$$

Hence, by (2.3)

$$\begin{split} \sum_{i=1}^{r} a_i &\leq a_r - a_0 + 2 \left(\sum_{i=0}^{r-1} b_i + e_r - e_0 \right) - 2(e_r - e_0) + e_r - e_0 \\ &= 2G - \left(e_r - a_r - e_0 + a_0 \right) \\ &= 2G - \left[\mu(X_r) - \mu(X_0) \right]. \end{split}$$

Thus (2.2) holds because we assume $\mu(X_r) \ge \mu(X_0)$. Hence $P \le 3G$.

Finally, we show that P < 3G, unless all $X_i = e_0$. The computation following (2.6) shows that the inequality is strict unless $\mu(X_0) = \mu(X_r)$. Therefore, we can and do assume $\mu(X_0) = \mu(X_r)$. Now, if one of the b_i 's is strictly positive, then P < 3G follows from the inequality $1 + P(X_i < e_i) < 2$. We can therefore assume that all $b_i = 0$ and $X_i \le e_{i+1}$. Hence, $a_i \le e_{i+1} - e_i$ and this inequality is strict unless $e_{i+1} = e_i$ and $X_i = e_i$. We may therefore assume $\sum_{i=0}^{r-1} a_i < e_r - e_0$. Now (2.3) shows that $G = e_r - e_0$, hence, $G = a_r - a_0$ because $\mu(X_0) = \mu(X_r)$. The estimate preceding (2.2) now implies that

$$P \le G + \sum_{i=1}^{r} a_i = 2G + \sum_{i=0}^{r-1} a_i < 2G + e_r - e_0 = 3G.$$

Thus P < 3G unless all $X_i = e_0$. This completes the proof of the theorem. \square

Actually, the ratio P/G is sometimes ≤ 2 . Such is the case if all the e_i 's are equal.

2.7. COROLLARY. Suppose that $e_0 \leq \cdots \leq e_r$. Then, under the assumptions of Theorem 2.1, $P \leq 2G + e_r - e_0$.

PROOF. If $e_i \le e_{i+1}$, then, by Lemma 2.5, the term $P(X_i < e_i)$ may be omitted in (2.6). Hence,

$$\sum_{i=1}^{r} a_i \le a_r - a_0 + \sum_{i=0}^{r-1} b_i + e_r - e_0 = a_r - a_0 + G.$$

Using this instead of (2.2), one obtains that $P \leq 2G + a_r - a_0$. [This is true also without the assumption $\mu(X_r) \geq \mu(X_0)$.] Since $\mu(X_0) \leq \mu(X_r)$, $a_r - a_0 \leq e_r - e_0$, hence, $P \leq 2G + e_r - e_0$. \square

- 3. The case of signed U_i 's. We now allow U_i 's with $-c \le U_i \le +c$, c > 0. Without loss of generality, we may assume c = 1. In the notation of the introduction, the optimal gain of the gambler is G_s and the gain of the prophet is P_s .
- 3.1. Theorem. Let \mathcal{L}_i be sigma-algebras such that for i, X_i and U_{i+1} are \mathcal{L}_r -measurable. Assume

(E)
$$E(X_i|X_{i-1}) = e_i, \quad i = 1, ..., r.$$

Assume, also, $\mu(X_0) \le \mu(X_r)$ and $e_0 \ge e_r$ (this is in particular true if $X_r = e_0$). Then $P_s \le 3G_s$. If $e_r = e_0$, then $P_s = 2P$ and $G_s = 2G$.

PROOF. With the U_i 's signed, the optimal gambler receivers $X_i - X_{i-1}$ on the set $\{X_{i-1} < e_i\}$ and $-(X_i - X_{i-1})$ on the set $\{X_{i-1} \ge e_i\}$. Hence

$$G_s = \sum_{i=1}^r \left[E(e_i - X_{i-1})^+ + E(e_i - X_{i-1})^- \right].$$

The difference of the summands in the brackets is $e_i - e_{i-1}$, hence

$$G_s = 2 \sum_{i=1}^{r} E(e_i - X_{i-1}) - \sum_{i=1}^{r} (e_i - e_{i-1})$$

= 2G - e_r + e₀.

Similarly,

$$P_{c}=2P-e_{r}+e_{0}.$$

Now, $P \leq 3G$ and $e_0 \geq e_r$ implies $P_s \leq 3G_s$. \square

4. Optimality of the constant 3. We now show that the constant 3 cannot be replaced by a lower constant in Theorems 2.1 and 3.1. Given $\varepsilon > 0$, we construct independent integrable nonnegative random variables X'_0, X'_1, \ldots, X'_s , with $P' \geq (3 - \varepsilon)G'$. Here P' and G' are the expected gains of the prophet and of the gambler for the primed process. \mathcal{L}'_i is the σ -algebra generated by X'_0, \ldots, X'_i . It will follow that 3 is optimal also for a smaller \mathcal{L}'_i .

The sequence (X_i') will be obtained from a sequence X_0, \ldots, X_r by inserting constant random variables between the X_i 's, namely, the expectation of the X_i

to the right. We put s = 2r and $X'_0 = X_0$, $X'_1 = e_1$, $X'_2 = X_1$,..., $X'_{2i-1} = e_i$ and $X'_{2i} = X_i$,..., $X'_{2r-s} = X_r$. For 0 < j = 2i, we have $e'_j = e_i$ and $X'_{j-1} = e_i$. For j = 2i - 1, we have $e_j = e_i$ and $X'_{j-1} = X_{i-1}$. Hence,

$$G' = \sum_{j=1}^{2r} E(e'_j - X'_{j-1})^+ = \sum_{j=1}^r E(e_j - X_{j-1})^+ = G.$$

Similarly,

$$P' = \sum_{j=1}^{2r} E(X'_j - X'_{j-1})^+ = \sum_{i=1}^r E(e_i - X_{i-1})^+ + \sum_{i=1}^r E(X_i - e_i)^+$$
$$= G + \sum_{i=1}^r E(X_i - e_i)^+.$$

Recall the definitions of a_i and b_i from Section 2:

$$a_i = E(X_i - e_i)^+, \qquad b_i = E(X_i - e_{i+1})^+.$$

We will construct X_0, \ldots, X_r so that $\sum_{i=1}^r a_i \ge (2-\epsilon)G$ and $X_0 = X_r = 0$. Then (2.3) gives $G = \sum_{i=0}^{r-1} b_i$. Let $X_1 = \eta = e_1$ and $e_{i+1} = e_i/\rho$ ($1 \le i \le r-2$), where η and ρ are constants, $\rho < 1$. r will be a larger integer to be chosen later. For $2 \le i \le r-2$, let X_i be random variables such that

$$P(X_i = e_{i+1}) = \rho, \qquad P(X_i = 0) = 1 - \rho.$$

Then $b_i=0$ and $a_i=(e_{i+1}-e_i)\rho$ for $2\leq i\leq r-2$. Choosing $\eta=e_1$ small and ρ close to 1, we can have the sum

$$\sum_{i=1}^{r-2} a_i = \sum_{i=2}^{r-2} a_i = (e_{r-1} - e_2)\rho,$$

arbitrarily close to e_{r-1} . Choosing r big, we may assume that $e_{r-1}=e_1\rho^{2-r}\geq 1$. Now define X_{r-1} so that $P(X_{r-1}=e_{r-1}/\alpha)=\alpha$ and $P(X_{r-1}=0)=1-\alpha$, where α is a constant. Then, $a_{r-1}=((e_{r-1}/\alpha)-e_{r-1})\alpha=e_{r-1}-e_{r-1}\alpha$ will be close to e_{r-1} if α is small. Now, $a_r=0$ and $b_{r-1}=e_{r-1}$. Thus, $\sum_{i=1}^r a_i$ is arbitrarily close to $2e_{r-1}$, while $\sum_{i=0}^{r-1} b_i=e_{r-1}=G$. Hence, the inequality in (2.2) is arbitrarily close to an equality, which implies that 3G is arbitrarily close to P. Thus, the constant 3 is optimal in Theorem 2.1.

Since $X'_0 = X'_s$, Theorem 3.1 implies that $P_s = 2P$ and $G_s = 2G$, which shows that the constant 3 is also optimal in Theorem 3.1.

REMARK. It is known that a prophet inequality is true for averages X_n of positive random variables if transforms are restricted to stopping (see [5] and [4]). It is, therefore, natural to consider the problem of such averages in our present setting. It is easy to show that the answer is negative, even if $X_n = (1/n)(Y_1 + \cdots + Y_n)$, where Y_i are independent random variables, with $P(Y_i = 0) = P(Y_i = 2) = \frac{1}{2}$: There is no bound for P/G.

REFERENCES

- [1] BURKHOLDER, D. L. (1966). Martingale transforms. Ann. Math. Statist. 37 1494-1504.
- [2] CHOW, Y. S., ROBBINS, H. and SIEGMUND, D. (1971). Great Expectations: The Theory of Optimal Stopping. Houghton Mifflin, Boston.
- [3] HILL, T. P. (1983). Prophet inequalities and order selection in optimal stopping problems. Proc. Amer. Math. Soc. 88 131-137.
- [4] Hill, T. P. (1986). Prophet inequalities for average of independent non-negative random variables. *Math. Z.* To appear.
- [5] KRENGEL, U. and SUCHESTON, L. (1978). On semiamarts, amarts, and processes with finite values. In Probability on Banach Spaces (J. Kuelbs, ed.) 197-266. Dekker, New York.
- [6] SAMUEL-CAHN, E. (1984). Comparison of threshold stop rules and maximum for independent nonnegative random variables. Ann. Probab. 12 1213-1216.

Institute for Mathematical Stochastics University of Göttingen Lotzestrasse 13 3400 Göttingen Federal Republic of Germany DEPARTMENT OF MATHEMATICS THE OHIO STATE UNIVERSITY 231 WEST 18TH AVENUE COLUMBUS, OHIO 43210